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(1%) Let f(2) = ,1 and g() = a— 1. Find all values of x for which

f(lr/(.z')) 1s discontinuous.

()0 (1 (¢) 0.1 (d) -1.1 (e) None of these

19%) Find the ar-values (if any) for which f is not continuous:

.

(a) 5 (b) 1 (c) 3 (d) 3.5 (e) None of these
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(1%) Find % if 4 - ey + 22 = 7.
da 57

/ v+ 3y—2x )
[H) .‘{rlr— _’li/ (])) E%T; (() 372 71/

(d) :’,;— (e) None of these

. (M%) State why the Mean Value Theorem does not apply to the

mz on the interval [-3,0].
(a) f(=3) # f(0) (b) f is not continuous at @ = —1
{¢) fis not defined at @ = =3 and @ = 0 (d) Both (a) and (b)

(e) None of these

function f(x) = “4—’7

1%) Let f(x) be a polynomial function such that f(-2) = 5,
J(=2) =0.and f"(=2) = 3. The point (—=2,5)isa____ the graph
of f.

(a) Relative maximum (b) Relative minimum (¢) Intercept
(d) Point of inflection (¢) None of these

1%) Evaluate the integral f L] d.
a)l  (b)0  (c)2 (d) -1 (e) None of these
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(e) None of these



